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A propeller of 5.0m diameter and 1.1 effective pitch ratio has a speed of
advance of 7.2 m per sec when running at 120rpm. Determine its slip ratio.
If the propeller rpm remains unchanged, what should be the speed of advance
for the propeller to have (a) zero slip and (b) 100 percent slip?
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A ship has a speed of 15 knots when the engine produces 5000 kW
brake power at 180rpm. The effective power of the ship is 3600 kW.
The propeller is directly connected to the engine. The wake frac-
tion is 0.250, the thrust deduction fraction 0.150, the relative rotative
efficiency 1.030 and the shafting efficiency 0.980. Determine the de-
livered power, the thrust power, the overall propulsive efficiency, the
propulsive efficiency (quasi-propulsive coefficient), the hull efficiency,
the open water efficiency, the speed of advance, the resistance of the
ship, and the propeller thrust and torque.



